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FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH - 2024

Part - III Tune ' 2 Howrs
MATHEMATICS (SCIENCE) Cool-offtime = 15 Minutes

Maximum . 60 Scores

/'

General Instructions to Candidates :
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There 15 2 * Cool-off time’ of 15 mmutes inaddition to the writmg time

Use the ‘ Cool-offtime’ to get famuliar with questions and to plan your answers
Read questions carefully before answermng

Read the mstructions carefully

Calculations, figures and graphs should be shown m the answer sheet itself
Malayalam version of the questions 1s also provided

Gwve equations wherever necessary

Electronic devices except non-programmab le calculators are not allowed in the
Exammation Hall
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Answer any 6 questions fram 1 to 8. Each carries 3 scores. (6x3=18)

1. @

()

2

®
(1)

()

5.
()

IfA={12 3}and B ={1, 4}, then the number of subsets of A x B 1s (1
@ & ® 6’
© 2 (@ 28
15["1 3] ( ”]th find x and

—+1,y—-—|=|-—,—| then findx an

3 ThY 3 33 y @
cos (x+y)+cos (x-y)= - )
Prove that cos (%+ x] + cos [%—x) =—J§cosx 2)
Solvethemequahtyx+§+§ £10+§ 2
Mark the solution i a2 number line (L)
nC = M

nl nl
(@) = (b) -
nl nn-1)
¢ d
© ritn=nl @ rl
In how many ways a committee consisting of 3 men and 2 women, can be chosen
from 7 men and 5 women ? (2)
Sum of all coefficients in the Binonual expansion of (1 + x) 1s (L
4
Using Binomual theorem expand G +§) . Q)
X

6 Consider the lme L, . 3x =4y +12=0 and a pomt A(2, -3)

®
(1)

Find the equation of the line passing through A and paralleltothe given ineL;  (2)
Find the distance from the criginto the given hine L,. (1)

7 Fmnd the coordinates of focus, equation of drectrx and length of latus rectum of the
parabola x? =12y,
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1 @3 8 2160 02198 &l 33 GO 10 6 AHIPTIN QTN HANONH: .

3 aapod aflow. Ex3=18)
() A={12, 3},B={1,4}m@;nnruanB@;mmmﬁxmg}ﬁ,g;mnm%u (1)
@ ¢ ® 6°
@ 2 @ 28
(1) (%H,y—é]:[—é,ﬂ,mmroar,y@-ua.mmmp,. 2
() cos(x+y)tcos(x-y)= . (1)
(1) cos [J—} +x] + cos [37:[-— ] =—y2cos X o)y sxoOgkolon x5 . )
) x+ § + % <10+ % AJOM YRS PEIGKDNOS AlBlAN0®o IS 2
(1) aXlanao MeRIPAAKDITE GB Q16N |S)D)E:. (D
W *C=__ ¢))
nl nl
(@) o () Y
nl n(n-1)
© ri(n—r) @ rl

(1) 7 an@ja10da0m)e S (@plke:g)s Gasdam ¢jajed alanie 3 aneatdzon). 2 apieg).
@RGSRV B3] & KA X0 GO TS GO HRTTIS 06000 ? @

M { +x)" o eemiomodioed afuelleasmasl el 1)EMITOINZES @)
@}, 1)

4

3

(1) [% + —] oaIemo ADd GRO.DaIawaufla aflaelle.dleeys:. ()]
X

L, 3x—4y+ 12=0agam eeemie A(Z, —-3) apam mimpile aldknerikoe o .
1) A odepges asmgapanmos  oaddlemm L, apan  esenilm’

LRV} PO HOLINANNG TLANNAD: o & DTRTMS: . )
) L, aiom eseiilaeiee acledlafiod aflan). 86 @ Ll & SNeavm)e 1)

X* = 12¥ o) al0OGMDHV]NS GalISONY, WDABELSTVING VIS, EDQIV’
08;5afle0g Afigo XU &HMET)E:.
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10.

11

13.

14

15.

l],m xﬂ _an

Vo T—— @
1- xn _:n
w If .5, — =32, then find the value ofn @
- x-2

Answer any 6 questions from 9 to 16. Each carries 4 scores. 6x4=24)

() AnA'= )

() IfU={1,23 4,56}, A={2 3 4} and B = {2, 3, 4, 6}, then verify that
(ANBY=A'"UB' 3)

() Draw the graph of the function, {: R —{0} = R defmed by fx)= 1 2)

X
(1) Fmd the domamn and range of f&x) = J9—x: . )
() Express(1 =1)% nx+ 1y form (2)

(1) Fmd the cocrdmates that represent the complex number E in the argand plane. (2)
i

() If"P,=840and °C, =35, then find the value of r. 2)
(1) Fmd the number of permutations of the letters of the word ATTITTUDE 2

The vertices of APQR are P(l, 0), Q(5, 4)and R(-1, 4)
()  Fmnd the equation ofthe lme representing the side PQ )
(1) Fmnd the equation ofthe line through R and perpendicular to the side PQ 2

An ellipse has tts foci on (* 4, 0) and vertices at (+ 5, 0)

() Fmd the length of the mmnor axis ¢}
(1) Fmd the length of the latus rectum and eccentricity of the ellipse. (2)
(1) Also write the equation of the ellipse. ¢))]
() Gmwve an example of any one point which e 1 second octant. (1)
(1) Show that the pomts A, 7, 10), B(H, 6, 6) and C(—4, 9, 6) are the vertices of a
right angled trnangle 3
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10.

11

13.

14

15.

- lm X -a" _
M x5 x—a ———— @
() If bn -ﬂ = 32 ayomd n g ailel @ oI )

9 amnd 16 oo caNnjenglol agemmlege 6 anIROTINT SOOI OV .

4 ampod aflow. 6x4=24)

() ANnA'= ¢}

) U ={1 2 3 4 5 6} A={2 3 4}, B = {2 3, 4, 6} *oxd
(AN BY=A"UB'an ooglaleo)s. &)

1) f R-{0} =R f(x)= lq;)nnntm‘mwﬂ._mm'mm;ﬁ,. )

X
() t'(x)-—-J?—x: XY OLIOHAN)> GO & OTB TN . 2)
M (1 =1 omx+ iy adM opITRHE ag¥ o0 @

1=
(1) 1—' ad)aM m.mma.hv" MMM TV} g LM rw&mg’ 1A £ YU k0
+1

TMUOALN & TR TN . (2)
() P, =384090. "C, =35 0. mywoad ‘T’ exgaflel e emamng. )
(1) ‘ATTITTUDE' adam ainmaien:) guososiivd ©alamouiaf & Oamaaonan

Onid M0GHMH 66 AR & ORI, (2)

APQRad P(, 0), Q(5, 4), R(-1, 4) awyxwond

(1 PQapavaivwmaiem Vja o] 40101 HOEITA O TUAUXE: Yo ) $ 21D . (2
(1) Rod manp PQ afam Aioemimes AUdandjan Ebel OIS TUAUM, o
S ORI ). 2

3] Al 6 garooeauemdd (1 4, 0) @i eudgaauped (1 5, 0) . mae.

(1) eeamd apglodend afige @oaRIM. (¢))
(1) apelumidond engminasomiagd afigs angedsimigho). a.oamam)e. (2)
() apeldmilon TUaIG: o & HTRIME. (1)

() oawd2eom® &&Wﬂé 288 ~gomalen. o) mimaleg aquakeav.an

DY O 1)
() A0, 7, 10), B(-l, 6, 6), C(—4, 9, 6) anparfl nflaneeud am) 25 ol adoemmaieng
USROS AT SXOBIDAOO )} Q)
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16. A bag contains 8 red and 5 white balls Three balls are drawn at random Find the
probability that

()  Allthethree balls are white D
(11) Allthethree balls are red (1)
(1) One ball 1sred and two balls are white 2
Answer any 3 questions from 17 to 20. Each carries 6 scores. 3 x6=18)
7 () —= M
14 tan~ 15°
1 V3
a) —= ® —
® = ) 3
© 2 @) 3
(i) Provethat 22X 7Y _5 gy )
€OS” X —SM~X
(i) Iftan 6=~ mdtan¢=l,thenshowﬁiat8+¢=§ 3)
2 3
18, (1) Whichtemofthe GP 2,8, 32, 15 32768 ? 2)
(11) The sum of first three teems of a G P 1s 14 and sum of next three terms 1s 112
Find the common ratio, frrst term and the sumto first nterms of the G.P 4
19. () Using first prnciple find the derwatve of f(x) = ! . &)
X
_ d [ x*+1
() Fmd —|— : )]
dx [x' - 1]
20. () Fmnd the mean deviation about mean of the following data
4,7,8 910,12, 13,17 @)
(1) Fmd the variance of the follow ng frequency data : 4)
Class 4 -y g~12 | 12~16 1 16-20
Frequency 3 6 4 7
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16. &30} enuouilod 8 aam eaL@@lo, 5 XU Q)T SISl O eNE. 03dau 20w ayany’
GENIIRNEUD ag)S )00 TMEN BITE T 6% AJO@)AD Gnsdsumiled (1e,:d & omeom)e:.

() @an’ ampaxe@lo XU 6. M
(1) 2 aMPANLAe 21X ATKBOET. M
(1) SN 2UaNO)o B OENE CNUIBNHUB HXUBTNO)o AYE. 2)

17 moad 20 oo 03 ypmalad agoomlege 3 aHFROTIN DOMOE NN .

6 anpod oflow. Rx6=18)
7O = 0
1+tan” 15°
1 V3
@ = ®
J3 2
@© 2 @ 3
(1) smﬂBx — smf =2 5N XafHon XG0l ea)s: . ()
COos”™ X—smn°x
(1) tm6=-};,tm¢=émm B+¢=§@nﬁ'm}@mﬂmm. 3)
- 2
18. () 2,832 . . oo GP wlee) ajonascd alcaan 327682 )

(1) em) GP oloer aasieom a)0m IGn@es e 14 9o aws)od aan
al3EngIens @) 112 9o AT DO M@0, B8O alfo, @Y3LETM N
AlGAMB)ONS 0N ) TTRU & HSTRTIN)O: . 4

190 (1) acovg (aladndaflid @ateoai,) fix) = 1 af)M afsHauexg eawdlenigh’
X

ORI 3)
d[x*+1
() dx[xf _J N ) 3)

200 () ooy amasiam avoqu)es A arslaucomassdianga did allhfl cwatnd

& EETRITN O,
4,7.8 9, 10,12, 13, 17, Q)
(1)  EVOYOEISIT (AL k8 IBMI ALOQW)HS CUDDBAU @ HTRTN)S: . “)
Class 4 -8 8=12 | 12=-16 | 16 =20
Frequency 3 6 4 7
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